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I. Choose the best answar: 14x1=14
1) If ACB = AmB, then
a)AzB b)A=B c)AcB dyBc A
2) If U = {x:xc Nandx<10}, A = {1, 2, 3,5 8and B = {2, 5, 6, 7, 9} then
n[{a_B)"1is

a)l b) 2 c)4 dy 8
3) In a city, 40% people like only one fruit, 35% people like only two fruits, 20%
people like all the three fruits. How many percentage of people da not like any

one of the above three fruits?

a)s b) 8 c) 10 d) 15
4] Which one of the following has a terminating decimal expansion?
a) &2 b} g c) % d) 13
5) When I:z‘fs-_,ﬁ)z is simplified, we get?
a) 4¥5 +242 b) 22-4410 c) 8- 4410 d) 2V10 -2
&) The root of the polynomial equation 2x+3 = 0 is
1 =1 -3 -2
a) 3 b) 3 c) 3 d) =3
7] Dearce of the palynomial (y3-2) (y*+1) is
a)9 b) 2 c)3 d) &6
8 b
8) If g*g where a,x+b,y+c, = 0 and azx-.-bzyw.z = 0 then the given pair of
linear equation has solutions.

a) no solution b) two solutions c) unigque d) infinite
ay If bisectors of £A and £B of a quadrilateral ABCD meet al O, then <AOB is

1 1 1 1 1
a) £C + 4D b) 5(£€+4D) € 3£C+34D  d) 3 4C+54D

10) AD is a diameter of a circle and AB is a chord. If AD = 30 crm'and AB = 24 cm then
the distance of AB from the centre of the circle ig :

a) 10 cm b) 9 cm c)8tm LA diécrﬁ
11) The point whose ordinate is 4 and which liés on the y-axis is -
a0 b) (0, 4) o1, 4) d) (4, 2)
12} In what ratio does the y-axis divides the. line joining the points (-5. 1) and (&, 3)
internally '
a) 1:3 b) 2:5 )31 d) 5:2
13) If sin 30¢ = x and cos 600 = y, then x?+y? is
ay 1/2 by 0 ¢) sin 909 d} cos 90°
1- tan? 450
14) The value of - n2—45
] 1+ tan- 450
a) 2 by 1 o0 d) 1/2
II. Answer any 10 questions: (Question Na. 28th compulsory) iox2=210

15) IFn[P(A)] = 256, find n(A).

16} IfA={6,7,8,9}andB = (8, 10, 12} find AAB.

17) Ifn{A) = 36, n(B) = 10, n(AUB) = 40 and n(A') = 27 find n(U ) and n{A~B),

I1B) Give any two rational numbers Iying between 0.5151151115.........
0.5353353335,...... .. '

19) Simplify: 3&75 +5J4'é __‘5_4_..._3_

anid

20) Find the number of zeros of the polynamials
representad by their graphs



2
ngz’ﬁ Factorlse: 2x? H15%-27

22) Find the GCD of 25x%y? .
23) The chord of length 30 cm is

7V, 4ax?yz?, 14xy?z?.

drawn at the distance of 8 crn from the centre of the

circle. Find the radius of the circle. D.——.C
zf."‘%“‘o/ "\_:\

J 22 FCIS P
54y Find the value of x¢ in the given figure. %l © |
\\ /'/

25) IF (x, 3), (B, ¥), (8, 2} and (9, 4) are the vertices of a parallelogram taken in arder,
then find the value of x and y. ) )
263 If the centroid of a triangle is at (4, -2) and two of its vertices are (2, -2) and
" (5, 2) then find the third vertex of the triangle.
3 : sin A -—c-_as__&
27) If cosA = = then find the value of — = "4
28) Find the values of the following:
(cos 0¢+sin 45P+sin 30°) (sin 509 -cos 450-+cos 609)
1II. Answer any 10 questions: (Qn.no. 41 Is compulsory) 10x5=50
29) IfF A = {¥:xsz, —2<x<4}, B = {x:xew, x5}, C = {-4, -1, 0, 2, 3, 43}, then verify
ArdBUC) = (AnB) U (ANC).
30) in agroup of 100 students, 85 s
20 students speak French, 32
French and 10 speak Tamil and French.
these languages, then find the number

languages.

tudents speak Tamil, 40 students speak in English,
speak Tamil and English, 13 speak English and
If each studeani knaws atleast any one of
of students who speak all these three

31) Find any flve rational numbers between ’,;; and }";
1

32) If x = J5 +2, then find the value of * <2

33) Find the value of m. If (x-2) is a factor of the palynamial 2x*-6x?+mx+4.
34) Find the guotient and remainder when (x*+x’-7x-3) is divided by(x-2) using

synthetic division,
35) In the given figure £A = 649, ZABC = 582 If BO and CC are the bisectors of LABC

and £ACB respectively of AABC find x© and y0.

A
/oAb,
r2N
e =
P >l ~R
B 45 e / /'T\\\\‘
) ) ,/JU‘ TR
36) If PORS is a cyclic quadrilateral in which ZPSR = 700 SK7ae /[ )
and £QPR = 40°, then find ~PRQ. N H0%g
. /
\\‘.\_\i//
P
37) Using section formula, sh i 3
e . show that the points A(7, -5), B(9, -3) and C({13, 1) are

38) T i i
) The vertices of a triangle are {1, 2), (h, —3) and (-4, k). If the centroid of the

" ) el B G ot
. FlllailghE Is at the points (5, 1) then find the value of J(h Fk)? +(h+ 3k)?
4[)3] F:rr:g IEI':\‘E \»*a;h.lesIF of tan7¢ tan23° tanG0° tan679 tan83o I
area of a right angle triar I
o bl 24323” gle triangle whose hypotenuse is 10 ¢m and one of the
Solve far x and Sy
R Bl questlmri.-:zx ¥y = 3; 3x+y = 7 by the method of elimination.

42} Constr |
ruct the centroid of APQR whose sides are PQ = 8 ¢m, QR = 6 o RP < 7 2RB(<='J!I£
s = 4 Cm

Construct the elrcum
Also _ centre of the AABC with AB = 5 ¢m, =
43) Drawﬂgsfir;}"mcrrﬂ:ie and find the circumradius of the Mé(? ke
Wik oge uh?raph for the equation y = 2x. .
Phical method to solve the eguation x+y = 7 x-y = 3 e
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